EARAROBREBRT —5 XN—ZXBISH—F

202418228 (B) 16EXAH2H

I CRIIE C3A+ U5%R—K

BN I R

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ S—~, O P FH*F :15. - . - AEFE (KH)
11112 [Pyozo35v0 ev6 | I8 1(1_5)0 9-7 38.0 4 zg;; %EE.‘&E
R:TYAFETY #:E—bO-X ENRT7—L
S~ S~ = PR :15. = . - WMEFIR (KH)
A : DRl 5| g 1150 | 53|34 i
RPRIAVL—Y B:HIVASRAL FiHS
5 —as =7 N :15. - . - PERE (KFH)
3d 4| 2T VI-L "R (11 135/43) S R : (5,?35) A
R:AN/VUwHF— B:HF4—I704 FHRERS
o —ns < BREX : - . - NEFEE (KH)
41510l T-WFVA—T v o6 g 1.(115).5 8-7 38.5 5 ig@)} ’J\Emi
RALVYISYIEN BFFRTF—IT RIFERHIS
W . SHE :15. - . - AmfE= (KH)
5 3 UH—XSE—D 6 56.0§ 1(71,?:)6 6-5 38.9 8 (5?:73) A=
R:FXF B:EHLFE-L (\) #HB81—-RU—yavBEEI7
= s 5 | &R 1:16.1 4-6 39.5| — 1 505 | AT ()
671373747 G @172 w7 | e
R:FUN—T BATAIEX AFAYRIT YR
S _ o7 | BEE 1:16.2 9-7 39.2| - 6 | 477 |BEMEE (K3
7007 | TLYTAR—F 5%.0 a7 o | B sEnigErnER
RIEVFOYY B:XIORYRA TS
-3 6 | HI%Z 1:16.6 15-14  [38.6| — 14 | 414 |[MNEFEFTE (W)
8 6| IFI¥a—t e A51.0 o) @) | @ oKC
RIAYVEAY B hoLEX RER4IS
S P4 1:16.7 1-1 4.6 — | 15 | 437 |dBHE (1)
9815 *1I¥xU— R ) el =
RiIvIFIWRTry s B:FIWT4ZF H &Hx
5 =, pOse o5 | BEBYE 1:16.7 14-15  [38.8| — | 11 | 451 |3L{EfR (KHD)
100111 | RE=FT 14 N1Y 56.0 F9) © | @ u-oz
RiEyI7—H— 8B:RAE—Fr19% YINIOITIIT7—LA
b~ it 4 | HRER 1:16.8 16-16  |38.4| — 10 | 380 |FREASE (OKH)
1|59 | 1-ITYE? 54.0 =) (o0 | BiLLEEE
R:TUA—Y BAFI/FTA4TS J—ZA—FY
o6 | BARE 1:16.8 7-1 39.9| - 7 50 |BRE (k)
12/8|16| V¥ /Z0OF 5.0 F5%) gy | LAEE
RIYZRI—S=RI— B:YSPIEX hEis
7 | mEffEE 1:16.8 3-4 40.3| - 9 | 486 |EEE (KH)
13 5| NL/RU—F # 54.0 V) o | @ 7oL
RivavFvaAvF B:I59V¥vaNY I59 Y BEtiE
9 6 | BEEK 1:16.8 13-13 [39.3| — | 13 | 423 |dEHE ()W)
14} YVav—ILkL e %53.0 NF) 7 e
RiAWTz—II B:Fv+ISTh EIN e
o= o 6 | fREAE 1:17.9 12-10 | 40.5| — 12 | 457 |EBRRAUR (k)
1508 12| V1T 1 AREaT e 54.0 ) (+g) | @ I TF
Rib—EyVa—FY BIVIIILILAY s s =
5 - — AEERAES : - - FHRE (KH)
1617014 FUF—LY 335 i 4 rHa 1.(118).1 112 | 40.7 16 (4+277) roze
R:ARASK=Z—9 H:FUF—)L ARET21—T7—L
@ 11— —BBIEfI
13—7F—
20—7F—
30—7— 15,4,5,13,8,3,16,10, (2,7) ,14,12,11,1,6,9
43—F— (4,15),8,5,3,13,(2,7,10),12,16,14,11,6,1,9
o ILRE
B B 2 810 | [ DA R 2-8 690M4 % 3= 1-4 1,210 3EE 2-4-8 3,780M
7B B 2 240 2-4 790 B 1-4 2,500 3EH 2-8-4 24,490
8 210 4-8 700/ 5B & 2-8 1,730
4 200/ =51 2-8 3,830

ABIC OV TRUTEREERRODDZE. THRIIZEL.




